

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

February 21, 2023

AWARD NOTICE BL016-23 Resurfacing of Major County Roads on a Term Contract

Pursuant to the bids received on January 18, 2023 for Resurfacing of Major County Roads on a Term Contract, the bid has been awarded to Magnum Paving, LLC; Stewart Bros., Inc.; and Sunbelt Asphalt Surfaces, Inc. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Lindsey Gravitt Purchasing Associate II

LG/km

Enclosure

BL016-23
Resurfacing of Major County Roads on a Term Contract
Department of Transportation

NORTH SECTION			E.R. Snell Contractor, Inc. (L)		Stewart Bros., Inc. (L)		Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (SP Type II, GP 2)	3,100 Ton	\$166.65	\$516,615.00	\$196.66	\$609,646.00	\$155.00	\$480,500.00
2	12.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (GP 2)	12,000 Tons	\$166.65	\$1,999,800.00	\$178.00	\$2,136,000.00	\$153.00	\$1,836,000.00
3	19mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	3,000 Ton	\$173.45	\$520,350.00	\$204.13	\$612,390.00	\$143.00	\$429,000.00
4	25mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	100 Ton	\$156.95	\$15,695.00	\$286.59	\$28,659.00	\$142.00	\$14,200.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	5,000 Ton	\$377.50	\$1,887,500.00	\$258.50	\$1,292,500.00	\$233.00	\$1,165,000.00
6	Recycled Asph. Conc. Leveling-including Bituminous Material, Lime and Tack Coat	3,000 Ton	\$171.15	\$513,450.00	\$226.49	\$679,470.00	\$155.00	\$465,000.00
7	Shoulder Reconstruction	26 Mile	\$15,900.00	\$413,400.00	\$9,900.00	\$257,400.00	\$15,000.00	\$390,000.00
8	Manhole Adjustment	25 Each	\$6,324.00	\$158,100.00	\$2,850.00	\$71,250.00	\$1,000.00	\$25,000.00
9	Water Valve Adjustment	25 Each	\$3,778.00	\$94,450.00	\$1,950.00	\$48,750.00	\$750.00	\$18,750.00
10	Asphalt Underlying Fabric	1,000 Sq.yds.	\$11.90	\$11,900.00	\$13.50	\$13,500.00	\$8.00	\$8,000.00
11	Mill Asphaltic Conc. Pavement - variable depth	95,000 Sq.yds.	\$6.80	\$646,000.00	\$6.30	\$598,500.00	\$5.00	\$475,000.00
12	Asphaltic Rubber Crack Fill	11 Mile	\$8,304.00	\$91,344.00	\$8,745.00	\$96,195.00	\$10,000.00	\$110,000.00
13	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	2,000 Ton	\$186.90	\$373,800.00	\$231.87	\$463,740.00	\$175.00	\$350,000.00
14	Full Depth Reclamation (FDR)	1,000 Sq. yds	\$50.50	\$50,500.00	\$51.07	\$51,070.00	\$20.00	\$20,000.00
_	Soil-Cement Base	200 Ton	\$346.35	\$69,270.00	\$230.00	\$46,000.00	\$250.00	\$50,000.00
16	Paint Pavement Markings	11 Mile	\$8,943.00	\$98,373.00	\$8,200.00	\$90,200.00	\$9,000.00	\$99,000.00
17	Indentation Rumble Strips – Ground-in-place (continuous)	12 GLM	\$3,768.00	\$45,216.00	\$2,795.00	\$33,540.00	\$2,000.00	\$24,000.00
			\$7,505,763.00		\$7,128,810.00		\$5,959,450.00	
Optiona	I Items							
1	12.5mm Recycled Asph. Conc including GTR- Modified Bituminous Material, Lime and Tack Coat (GP 2)	1,200 Ton	\$192.00	\$230,400.00	\$587.00	\$704,400.00	N/B	N/B
2	12.5mm Recycled Asph Conc including Polymer- Modified Bituminous Material, Lime and Tack Coat (GP2)	1,200 Ton	\$192.00	\$230,400.00	\$425.00	\$510,000.00	N/B	N/B

BID TABULATION

BL016-23 Resurfacing of Major County Roads on a Term Contract Department of Transportation

	SOUTH SECTION	Contra	Snell ctor, Inc. (L)	Stewart Bros., Inc. (L)		
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (SP Type II, GP 2)	8,500 Ton	\$166.40	\$1,414,400.00	\$187.92	\$1,597,320.00
2	12.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (GP 2)	10,500 Tons	\$163.40	\$1,715,700.00	\$180.26	\$1,892,730.00
3	19mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	3,000 Ton	\$168.05	\$504,150.00	\$209.08	\$627,240.00
4	25mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	100 Ton	\$176.25	\$17,625.00	\$283.96	\$28,396.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	7,500 Ton	\$377.05	\$2,827,875.00	\$270.07	\$2,025,525.00
6	Recycled Asph. Conc. Leveling-including Bituminous Material, Lime and Tack Coat	5,600 Ton	\$173.85	\$973,560.00	\$214.98	\$1,203,888.00
7	Shoulder Reconstruction	32 Mile	\$15,600.00	\$499,200.00	\$9,900.00	\$316,800.00
8	Manhole Adjustment	35 Each	\$5,940.00	\$207,900.00	\$2,850.00	\$99,750.00
9	Water Valve Adjustment	15 Each	\$3,549.00	\$53,235.00	\$1,950.00	\$29,250.00
10	Asphalt Underlying Fabric	1,000 Sq.yds.	\$11.85	\$11,850.00	\$13.50	\$13,500.00
11	Mill Asphaltic Conc. Pavement - variable depth	140,000 Sq.yds.	\$8.23	\$1,152,200.00	\$6.30	\$882,000.00
12	Asphaltic Rubber Crack Fill	19 Mile	\$7,460.00	\$141,740.00	\$8,800.00	\$167,200.00
13	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	2,000 Ton	\$206.40	\$412,800.00	\$220.47	\$440,940.00
14	Full Depth Reclamation (FDR)	1,000 Sq.yds	\$50.50	\$50,500.00	\$48.83	\$48,830.00
15	Soil-Cement Base	200 Ton	\$346.35	\$69,270.00	\$230.00	\$46,000.00
16	Paint Pavement Markings	19 Mile	\$8,943.00	\$169,917.00	\$8,450.00	\$160,550.00
17	Indentation Rumble Strips – Ground-in-place (continuous)	28 GLM	\$2,110.00	\$59,080.00	\$1,750.00	\$49,000.00
		SOUTH TOTAL	\$10,281,002.00		\$9,628,919.00	
Optional						
1	12.5mm Recycled Asph. Conc including GTR-Modified Bituminous Material, Lime and Tack Coat (GP 2)	3,500 Ton	\$192.00	\$672,000.00	\$587.00	\$2,054,500.00
2	12.5mm Recycled Asph Conc including Polymer-Modified Bituminous Material, Lime and Tack Coat (GP2)	2,000 Ton	\$192.00	\$384,000.00	\$425.00	\$850,000.00

BID TABULATION Page 3 of 3

BL016-23 Resurfacing of Major County Roads on a Term Contract Department of Transportation

WEST SECTION			E.R. Snell Contractor, Inc. (L)		Magnum Paving, LLC (OC)		Stewart Bros., Inc. (L)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (SP Type II, GP 2)	1,500 Ton	\$169.80	\$254,700.00	\$173.02	\$259,530.00	\$207.54	\$311,310.00
2	12.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (GP 2)	29,700 Tons	\$166.70	\$4,950,990.00	\$156.52	\$4,648,644.00	\$171.89	\$5,105,133.00
3	19mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	3,000 Ton	\$178.50	\$535,500.00	\$159.36	\$478,080.00	\$198.80	\$596,400.00
4	25mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	100 Ton	\$158.00	\$15,800.00	\$152.25	\$15,225.00	\$289.58	\$28,958.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	7,500 Ton	\$392.00	\$2,940,000.00	\$275.57	\$2,066,775.00	\$281.60	\$2,112,000.00
6	Recycled Asph. Conc. Leveling-including Bituminous Material, Lime and Tack Coat	5,600 Ton	\$174.50	\$977,200.00	\$167.98	\$940,688.00	\$214.98	\$1,203,888.00
7	Shoulder Reconstruction	26 Mile	\$16,000.00	\$416,000.00	\$15,225.00	\$395,850.00	\$9,900.00	\$257,400.00
	Manhole Adjustment	50 Each	\$6,516.00	\$325,800.00	\$3,654.00	\$182,700.00	\$2,850.00	\$142,500.00
9	Water Valve Adjustment	25 Each	\$3,893.00	\$97,325.00	\$3,349.50	\$83,737.50	\$1,950.00	\$48,750.00
10	Asphalt Underlying Fabric	1,000 Sq.yds.	\$12.20	\$12,200.00	\$10.15	\$10,150.00	\$13.50	\$13,500.00
11	Mill Asphaltic Conc. Pavement - variable depth	170,000 Sq.yds.	\$7.30	\$1,241,000.00	\$5.83	\$991,100.00	\$6.35	\$1,079,500.00
12	Asphaltic Rubber Crack Fill	15 Mile	\$11,200.00	\$168,000.00	\$10,150.00	\$152,250.00	\$8,800.00	\$132,000.00
13	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	2,000 Ton	\$195.10	\$390,200.00	\$187.78	\$375,560.00	\$220.47	\$440,940.00
14	Full Depth Reclamation (FDR)	1,000 Sq.Yds	\$51.55	\$51,550.00	\$25.38	\$25,380.00	\$49.24	\$49,240.00
15	Soil-Cement Base	200 Ton	\$356.85	\$71,370.00	\$253.75	\$50,750.00	\$230.00	\$46,000.00
16	Paint Pavement Markings	15 Mile	\$9,204.00	\$138,060.00	\$8,120.00	\$121,800.00	\$8,195.00	\$122,925.00
17	Indentation Rumble Strips – Ground-in-place (continuous)	13 GLM	\$3,059.00	\$39,767.00	\$2,030.00	\$26,390.00	\$2,305.00	\$29,965.00
		WEST TOTAL	\$12,625,462.00		\$10,824,609.50		\$11,720,409.00	
Optional	Items							
1	12.5mm Recycled Asph. Conc including GTR-Modified Bituminous Material, Lime and Tack Coat (GP 2)	2,000 Ton	\$202.00	\$404,000.00	N/B	N/B	\$587.00	\$1,174,000.00
2	12.5mm Recycled Asph Conc including Polymer-Modified Bituminous Material, Lime and Tack Coat (GP2)	2,000 Ton	\$202.00	\$404,000.00	\$170.00	\$340,000.00	\$425.00	\$850,000.00

Recommended Vendors:

West Section:

Magnum Paving, LLC Attn: Tyler Dickinson 125 Baker Industrial Court Villa Rica, GA 30180 Phone: 404-754-6326 tyler@magnumpavingga.com

South Section:

Stewart Bros., Inc. Attn: Donald B. Stewart, III 2480 Pleasantdale Road Doraville, GA 30340 Phone: 770-447-5810 donald@stewartbrosinc.com

North Section:

Sunbelt Asphalt Surfaces, Inc. Attn: Donald McCroskey 1410 Sunbelt Way Auburn, GA 30011 Phone: 770-867-5312 Jason@SunbeltAsphalt.com